Real-life examples of Direct Variation:

e # of hours worked and the amount of your paycheck

e # of links in a chain and the length of a chain

e # of gallons of gas purchased and the amount you pay the cashier
e The number of minutes you walk and the number of calories burned

Remember the phrase: "y varies directly with X"

The point (6,11) is on the graph of
a direct variation relationship.

Write an equation for this Direct Variation.
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Thelnumber of miles)a car can drive varies directly with the

number of gallons of gas used.
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| was able to drive 471 miles and used 15 gallons.

1. What is the variation constant?
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2. Write a direct variation equation.
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3. Find the number of gallons needed to travel 1000 miles.
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The slope of & direct variation jgraph is 4.5
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Does this direct variation contain the point (6, 27) ?
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Y varies directly with X.

Ify = 8 when x = 30, find xwheny = 100
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Ify =125 when x = 64, find y when x =20
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Graphing Direct Variation.

2. Graph this direct variation: y = 2x
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Graphing Direct Variation.

1. Graph the direct variation that contains

the point (-3,2)
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This ordered pair is from the same Direct Variation.
Find the missing value
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This ordered pair is from the same Direct Variation. Hwk #11 Sec 2-3
Find the missing value
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Graphy =2
but only when x<0

Graphy =2x-1
but only when x > 0

The rule for this piecwise function:

2,ifx<0
f(x) =
2x-1,ifx>0

When to graph it.
The x-values (Domain) when
this equation is visible.

the equation
to graph

f(x) =



